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Question Number : 1 Question Id : 1465871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following river does NOT flow in Chhattisgarh?
Options :

1465871. # Eeb

1465872. # Kelo

1465873. ¥ Penna

1465874. * Borai

Question Number : 1 Question Id : 1465871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fFofRed # 9 o I ¢! axiaTe # 78T J8di 67
Options :

1465871. % 5§

1465872, % hall

1465873, ¢ Ul



1465874, % IRTS

Question Number : 2 Question Id : 1465872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

As of August 15, 2021, how many districts are there in the state of Chhattisgarh?
Options :

1465875. # 21

1465876. ¥ 32

1465877. # 27

1465878. # 29

Question Number : 2 Question Id : 1465872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

15 3T, 2021 I BTG 5T A Hd fbaq foral g2
Options :

1465875. * 21

1465876. ¥ 32

1465877. % 27

1465878. # 29

Question Number : 3 Question Id : 1465873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Chhattisgarh came under the British rule for the first time in which year?
Options :

1465879. # 1857

14658710. # 1797

14658711. * 1758

14658712. ¢ 1818



Question Number : 3 Question Id : 1465873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

for v T Ugcl IR BTG Sfewr I & 31efF gaim?
Options :

1465879. % 1857

14658710. % 1797

14658711. % 1758

14658712. ¥ 1818

Question Number : 4 Question Id : 1465874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Within the Republic of India, Chhattisgarh was granted statehood on
Options :

14658713. ¥ 1 November 2000

14658714. * 1 October 2000

14658715. * 1 November 2001

14658716. * 1 October 2001

Question Number : 4 Question Id : 1465874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

HR TR & HidR, BTG &) DI T PTGl 141 74T T
Options :

14658713. ¢ 1 Ad&R 2000

14658714. % 1 3HdgdX 2000

14658715, % 1 d&R 2001

14658716. # 1 HdgdR 2001

Question Number : 5 Question Id : 1465875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Identify the rebellion that took place in southern Bastar in 1859 against the British decision of offering the contracts of cutting of sal trees to
people outside the region of Bastar.

Options :

14658717. * Halba Revolt
14658718. * Lingagiri Revolt
14658719. * Tarapore Revolt
14658720. ¥ Koi Revolt

Question Number : 5 Question Id : 1465875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

1859 H TR0 R # gU 34 fa%i & UgdH, Sl SR & & S18R Al &I AT g&f Ie- BT 3PT o & (e (ofg o Raars i

Options :

14658717. % gl [dalg
14658718. * MR} fagis
14658719. * ARTUR fagg

14658720. ¥ HIS fagig

Question Number : 6 Question Id : 1465876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is the harvest festival of Chhattisgarh?
Options :

14658721. # Parad

14658722. ¥ Madai

14658723. # Pola

14658724. ¥ Charta

Question Number : 6 Question Id : 1465876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

fafafed o 9 ST & Tadd (BT Hhiead) SIF a1 g?
Options :

14658721. # Uq (Parad)

14658722. % HATS (Madai)

14658723. % TIdT (Pola)

14658724. ¢ TR (Charta)

Question Number : 7 Question Id : 1465877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is the Popular Festival of Chhatttisgarh?
Options :

14658725. ¥ Navakhana

14658726. * Onam

14658727. # Bihu

14658728. * Hornbill

Question Number : 7 Question Id : 1465877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafead # e &1 die g AgR S 9182
Options :

14658725, « AaQIHl

14658726. % 3{IUH

14658727. % fag

14658728. % sl:ilaa

Question Number : 8 Question Id : 1465878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which of the following is a tribal group dance of Chhattisgarh in which only males (Boys) participate?
Options :

14658729. ¥ Saila dance

14658730. ¥ Suwa dance

14658731. ¥ Karma dance

14658732. * Gendi dance

Question Number : 8 Question Id : 1465878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A # 9 <iienTe & &I 9 ffear THg T | cac oY HIT d 82
Options :

14658729, ¢ IdT T

14658730. % a1

14658731. % HATIA

14658732, # TSl g

Question Number : 9 Question Id : 1465879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which musician from Chhattisgarh has been given Padmashree Award in the field of Art — Music, 2019?
Options :

14658733. * Rajat Dholakia

14658734. * Punaram Nishad

14658735. ¥ Anup Ranjan Pandey

14658736. * Sumedha Karmahe

Question Number : 9 Question Id : 1465879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
BTG & [hd YADHR B! HAl-TI, 2019 & &F H T1eft SR ez T g?

Options :



14658733, % Told Gl

14658734, % QAR f1g
14658735, ¢ 30 Y94 UiS

14658736. % JHYT HIHG

Question Number : 10 Question Id : 14658710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

With which musical instrument is the musician Anupama Bhagwat associated?
Options :

14658737. * Flute

14658738. # Sarod

14658739. # Tabla

14658740. ¢ Sitar

Question Number : 10 Question Id : 14658710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
forg it arer @ STasT SIUHT YRTd &1 A1 S[eT §31T 87

Options :

14658737. % SIGRI
14658738. ¥ IRIG

14658739. # ddcll
14658740. ¢ fHAR

Question Number : 11 Question Id : 14658711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the name used for the intermediate panchayat in Chhattisgarh under the Panchayat Raj Adhiniyam 1993?
Options :

14658741. # Zilla Panchayat



14658742. * Gram Panchayat
14658743. ¢ Janpad Panchayat
14658744. * Samiti Panchayat

Question Number : 11 Question Id : 14658711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TATId XS AT 1993 & d8d BT H Head! Garad o o 1 I =19 Uged foar 7/ g2
Options :

14658741, % o7t d<mad

14658742. % UTH UdrId

14658743, ¢ SUG UATAd

14658744. % GiHfq d<mad

Question Number : 12 Question Id : 14658712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Presence of of the total number of members of Gram Sabha, constitutes the forum for conducting a Gram Sabha meeting.
Options :

14658745. # one fourth

14658746. * one fifth

14658747. % half

14658748. ¥ one tenth

Question Number : 12 Question Id : 14658712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

UTH U & Yol &1 o S & DI U, UTH JUT DT 96 TN B3 & 14 Tl BT 16 Bl g

Options :
14658745, % T AUTS
14658746. ¥ UdH &1 Uidd] g5l



14658747. % 314
14658748. U &I agdi fg=n

Question Number : 13 Question Id : 14658713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

According to Section 6 of Chhattisgarh Panchayati Raj Act 1993, as amended in 2004, a Gram Sabha must meet every three months
in a year.

Options :

14658749. ¥ once
14658750. * twice
14658751. * three times
14658752. * four times

Question Number : 13 Question Id : 14658713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2004 T TN BIRITG GRS SAIFEH, 1993 T URT 6 & SIAR, T T THT BT SMTASH a8 & TS diF HalH | AT
ElRY

Options :

14658749. ¥ T dR

14658750. % Gl aR

14658751. % W ER

14658752, % AR AR

Question Number : 14 Question Id : 14658714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Chhattisgarh Budget 2019-20 proposed to start Yojana for rural development and employment generation.
Options :

14658753. * Sanyojit Gaon

14658754. ¥ Suraji Gaon



14658755. * Sampann Gaon
14658756. * Samridhi Gaon

Question Number : 14 Question Id : 14658714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2019-20 & BTG ol H ArHivr faepg 3R JAsTR fHAfor & forg IS Y& HRA BT U4 3|
Options :

14658753, % AT TM1d

14658754, ¢ TSN Ml

14658755, % T Tid

14658756, % THfG T1d

Question Number : 15 Question Id : 14658715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which district in Chhattisgarh is known as the power capital of India?
Options :

14658757. ¥ Korba

14658758. * Kanker

14658759. # Surguja

14658760. * Bijapur

Question Number : 15 Question Id : 14658715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TG T I Tl HRA Bt Sroll IS &b T § ST ST B |

Options :

14658757. ¢ HRET
14658758. % HihT

14658759. # UL




14658760. * SISTYR

Question Number : 16 Question Id : 14658716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Chhattisgarh ranks second among states of India in the production of by contributing over 18% to the total national production

Options :

14658761. * mica
14658762. ¥ coal
14658763. # iron
14658764. * bauxite

Question Number : 16 Question Id : 14658716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

D AT TG H 18% ¥ 31 INTGM b HRUT HRd & ATl H &b JAG H BT fgdld RIM W g
Options :

14658761. % YD

14658762. ¥ DIl

14658763. ¥ TG

14658764, % SIaISC

Question Number : 17 Question Id : 14658717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What was Chhattisgarh also called in ancient times?
Options :

14658765. * Cheralam

14658766. * Karunadu



14658767. * Quilon
14658768. ¥ Dakshin Kosala

Question Number : 17 Question Id : 14658717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
YT Td B, ST B 3R g 719 § S Sirdn ur
Options :

14658765. % TIAH

14658766. % D21
14658767. % A

14658768, + GIE0 HIOd

Question Number : 18 Question Id : 14658718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who was the Chief Minister of Chhattisgarh during 2013 - 2018?
Options :

14658769. # Ajit Jogi

14658770. ¥ Raman Singh

14658771. # Bhupesh Baghel

14658772. # Ashok Gehlot

Question Number : 18 Question Id : 14658718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T 2013-2018 & &9 T BTG & TAHA DIH U2
Options :

14658769. % 3fSitd ST

14658770. ¢ 39 g

14658771, ¥ YURI S




14658772. % 3N Tgald

Question Number : 19 Question Id : 14658719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following rivers is known as the Ganga of Chhattisgarh?
Options :

14658773. * Narmada

14658774. # Godavari

14658775. ¥ Mahanandi

14658776. * Shivnath

Question Number : 19 Question Id : 14658719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafafaa o F fog 7 o) ST o 1 1T SITdT 82
Options :

14658773, % THaT

14658774 % Tara}l

14658775. ¢ HEHG!

14658776. % TRa-1Y

Question Number : 20 Question Id : 14658720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following cultural festival is NOT hosted in Chhattisgarh?
Options :

14658777. * Chakaradar Samaroh

14658778. * Sirpur Mahotsav

14658779. * Rajim Kumbh

14658780. ¥ Surajkund Mela



Question Number : 20 Question Id : 14658720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafeied & ¥ ford Tiepids Ud &1 e Sxiiae H -1g! (ol SiTdl 87

Options :
14658777. % TheR TARIG

14658778. ¥ RRQR HgIId
14658779. % 0ToTH HH

14658780. ¢ YRGS Tl

Question Number : 21 Question Id : 14658721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following tribes are NOT native in Chhattisgarh state?
Options :

14658781. * Gonds

14658782. ¥ Lambada

14658783. * Muria

14658784. # Halba

Question Number : 21 Question Id : 14658721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafaiad & @ ®F T ST SxiaTe I59 &1 4d fFHard =8t 82
Options :

14658781, ® I8

14658782, ¥ TSI

14658783. % AT

14658784. # gedl



Question Number : 22 Question Id : 14658722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Chhattisgarh has allocated of its total expenditure on roads and bridges in 2019-20
Options :

14658785. * 3.2%

14658786. * 5.7%

14658787. * 4.8%

14658788. ¥ 6.8%

Question Number : 22 Question Id : 14658722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BURATG 7 2019-20 H TSP SIR YA R A PO WA b1 3f7dfed fHar gl
Options :

14658785. #* 3.2%

14658786. * 5.7%

14658787. * 4.8%

14658788. ¥ 6.8%

Question Number : 23 Question Id : 14658723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When did the first session of Chhattisgarh state legislative assembly took place?
Options :

14658789. ¥ 14 dec 2000 to 19 dec 2000

14658790. * 12 dec 2000 to 17 dec 2000

14658791. #* 18 dec 2000 to 23 dec 2000

14658792. * 16 dec 2000 to 21 dec 2000

Question Number : 23 Question Id : 14658723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

BTG fAUT THT DT Ugall I e 3Mitord fobar mam
Options :

14658789. ¢ 14 faZaR 2000 ¥ 19 fa=sR 2000
14658790. # 12 faaR 2000 ¥ 17 f&=sR 2000
14658791. # 18 fagaR 2000 ¥ 23 f&=sR 2000
14658792. # 16 fagaR 2000 ¥ 21 f&HsR 2000

Question Number : 24 Question Id : 14658724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What percentage of total coal deposits of India are in Chhattisgarh?
Options :

14658793. ¥ 16%

14658794. # 26%

14658795. * 36%

14658796. * 46%

Question Number : 24 Question Id : 14658724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

YRA & A BT HSR &1 faba Ufa=rd St # 82
Options :

14658793. ¥ 16%

14658794. * 26%

14658795. * 36%

14658796. * 46%

Question Number : 25 Question Id : 14658725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the name of the battalion of central reserve police commissioned by central home ministry which was put into force in Chhattisgarh?



Options :

14658797. * Dhantariya
14658798. * Raipuria
14658799. ¥ Bastariya
146587100. * Rajgariya

Question Number : 25 Question Id : 14658725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

&g T8 AT gRI Mo d g Rord gfery 9 &t 39 derferH &1 a1 A g, o S<iierTe § o-1d faran war um

Options :

14658797. % =TT
14658798. % YR
14658799. ¢ S&IRAT
146587100. #® IoHTfgaT
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Section Number :
Section type :
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Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 26 Question Id : 14658726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Computer Knowledge

1465872
2

Online
Mandatory
25

25

25

Yes

1
1465872
Yes



Correct Marks : 1 Wrong Marks : 0

Which of the following is an input device that is mainly used to play computer games?
Options :

146587101. #* Plotter

146587102. ¥ Joystick

146587103. #* Speaker

146587104. * Projector

Question Number : 26 Question Id : 14658726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fafid & ¥ & 91 T30 U I $eR TR Q- g Ugad a1 o aTel T §Y¢ fearsy &2
Options :

146587101. % WilcxX

146587102. ¥ SURCH

146587103, % TR

146587104, % TGidex

Question Number : 27 Question Id : 14658727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The keys labeled as F1, F2, etc. on the keyboard of a computer are known as
Options :

146587105. * numeric keys

146587106. ¥ function keys

146587107. * fixed keys

146587108. #* flickering keys

Question Number : 27 Question Id : 14658727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



HYCR & DIAIS W F1, F2 3G & =0 T A9 DI 15 HIor! (keys) DI Hed ol
Options :

146587105. ¥ gHR® BT (keys)

146587106. ¥ AR BT (keys)

146587107. % e ISRl (keys)

146587108. # TOIDH I BT (keys)

Question Number : 28 Question Id : 14658728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are FALSE?

(1) Digitizer is an input device.

(i1) A mouse moves the cursor faster than the arrow keys of the keyboard.
Options :

146587109. ¥ Only (i)

146587110. * Only (ii)

146587111. * Both (i) and (ii)

146587112. % Neither (i) nor (ii)

Question Number : 28 Question Id : 14658728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafeied § 4 &9 918 Sy Tad 8/8?

(1) IEIQEEGR,WW%GW%I
(i) PIETS DI W HIOTT (keys) BT T H, A3 & SIRT HER P ol I Tl oIl hdT 8 |

Options :

146587109. % &Hdd (i)

146587110, ¥ &Had (ii)

146587111, # (i) 3fR (ii) I
146587112. ¢ AT &Y (i) 3R ATBY (i)




Question Number : 29 Question Id : 14658729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

With respect to computer systems, the term CPU stands for:
Options :

146587113, ® Critical Processing Unit

146587114. ¥ Central Processing Unit

146587115. ® Critical Power Unit

146587116. ®* Central Power Unit

Question Number : 29 Question Id : 14658729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SR Ren & ¥4 H, cPU &1 quf ST &1 82

Options :

146587113, % fohfema TR AT (Critical Processing Unit)
146587114, ¢ @Eﬁ TRIRIT ?{ﬁ? (Central Processing Unit)
146587115. ¥ fobfddhd UIGR AT (Critical Power Unit)
146587116. ¥ HId UIGR GIC (Central Power Unit)

Question Number : 30 Question Id : 14658730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the odd option from those given below, based on their data persistence property.
Options :

146587117. ¥ SRAM

146587118. ¥ EPROM

146587119. ¥ DRAM

146587120. ¥ SDRAM

Question Number : 30 Question Id : 14658730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

feuTu famedl § T 37 IIC] W@I@'ﬂ(data persistence)ﬁﬁwagwmmﬁ'qﬂ/mﬁ faded ol Ig- B |
Options :

146587117. % SRAM

146587118. ¥ EPROM

146587119. ¥ DRAM

146587120. * SDRAM

Question Number : 31 Question Id : 14658731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following options best describes the truthfulness of the following statements?

(1) Hard Disks need periodic refreshing to preserve the data stored on them.
(i1) Recording surfaces of hard disks are divided into concentric circles called sectors.

Options :

146587121. * (i) - TRUE; (ii) - TRUE
146587122. * (i) - TRUE; (ii) - FALSE
146587123. * (i) - FALSE,; (ii) - TRUE
146587124. # (i) - FALSE,; (ii) - FALSE

Question Number : 31 Question Id : 14658731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafeiad & @ & 9/ faweu, T Ifcalad &Y & TodT &1 Jarad [daRul TRdd HRA1/HRd 8/8?

(i) BTS &% T Hferd STet &1 WRférd T g Fafid U ¥ &1 Aa-1dx0 [ dT ST F1gu|

(i) BTS f&%b I RIS TRBY I Fabfed I (concentric circles) T fAHTITT b SiTaT g, o T #gd B
Options :

146587121. % (i) - QT; (ii) - ol

146587122. ¥ (i) - Fal: (i) - TAd

146587123, % (i) - TqIq; (ii) - ol




146587124, ¥ (i) - TTeTd; (i) - TTeId

Question Number : 32 Question Id : 14658732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In MS-Power 2013, which of the following shortcut key combinations is used to exit the PowerPoint?
Options :

146587125. % Alt+ F, X

146587126. # Alt+ X, F

146587127. % Alt+ S, X

146587128. # Ctr+ S, X

Question Number : 32 Question Id : 14658732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

MS-Power 2013 H, PowerPoint &1 8¢ $-- gq FafiRad # 9 forg e we ot JaorH &1 YaiT foar o g2
Options :

146587125. % Alt+ F, X

146587126. # Alt+ X, F

146587127. % Alt+ S, X

146587128. # Ctr+ S, X

Question Number : 33 Question Id : 14658733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2013, which of the following tabs includes the Tllustrations' group menu?
Options :

146587129. ¥ INSERT

146587130. * DESIGN

146587131. * PAGE LAYOUT

146587132. * HOME



Question Number : 33 Question Id : 14658733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

MS-Word 2013 , Fafafaa o 9 fog g ¥ “Illustrations (ET'I@;Q'F\‘:D' PR fﬁaﬁ e fopan T g2
Options :

146587129. ¥ INSERT

146587130. * DESIGN

146587131. * PAGE LAYOUT

146587132. ¥ HOME

Question Number : 34 Question Id : 14658734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2013, which of the following options is NOT available in 'Tables' group menu under the INSERT Tab?
Options :

146587133. * Insert Tables

146587134. # Draw Tables

146587135. # Convert Text to Table

146587136. ¥ Convert Table to Text

Question Number : 34 Question Id : 14658734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

MS-Word 2013 H, INSERT (3-9¢) ¢& & T8, 'Tables (CT) 0 I H FHfeiad & I &1 A1 faweu Iuas 8 g1 82

Options :

146587133, % TC cacd
146587134, % gl daeq
146587135. % H~dc CRC ¢ cod
146587136. ¥ H-dC Cqd ¢ CRC




Question Number : 35 Question Id : 14658735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the output of the following Excel formula?

=averageif(A1:A7, "<=0")
Options :

146587137. ¥ 4

146587138. # 5

146587139. # 4.9

146587140. # 20

Question Number : 35 Question Id : 14658735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
UF UFH MT (Excel sheet) H, @ A1 T A7 H {1,2,04,0,6,7} F &I & AT ¢!

frrafaf@a woraer BIAET (Excel formula) & HT3EYE T gRT?

=averageif(A1:A7, "<>0")
Options :

146587137. ¢ 4

146587138. # 5

146587139. ¥ 4.9

146587140. ¥ 20

Question Number : 36 Question Id : 14658736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the columns and select the option that applies.

a) In Excel 2013, the maximum number of rows 1) 3

b) In Excel 2013, the maximum number of columns | ii) 1048576

c) =HARMEAN(16385,16384, 14385) iii) 16,384
d) =COUNTA("text", 1.,"hello") iv) 15658.97302
Options :

146587141. % a—ii; b —iii; c —iv; d —1i
146587142. % a—iv; b—1ii;c —iii; d—1i
146587143. % a—1ii;b—1i;c—iv; d —iii
146587144. % a—iii;b—ii;c—iv;d—1i

Question Number : 36 Question Id : 14658736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



fAFTf@a FloAr 1 e T T2 &6 8 a1 &Fehed &1 =8 F

a) THAe (Excel) 2013 #, ufFgar & gaifds gwar|i)3

b) Taae (Excel) 2013 &, FiotH Hr Fafds F&AT | ii)1048576

c) =HARMEAN(16385,16384, 14385) i)16,384
d) =COUNTA("text", 1,"hello"™) iv)15658.97302
Options :

146587141. % a—1ii; b —iii; c —iv; d —1i
146587142. # a—1iv;b—1ii;c—iii;d—1i
146587143. # a—1ii;b—1;¢c—iv; d —iii
146587144, # a—iii;b—ii;c—iv;d —1i

Question Number : 37 Question Id : 14658737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In case of the operating system, Windows NT, what does NT stand for?
Options :

146587145. # Nano Technology

146587146. * Neutral Technology

146587147. ¥ New Technology

146587148. # Nano Tool

Question Number : 37 Question Id : 14658737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

SHToRfT Red fdSIT NT & Aa §, NT &1 quf &0 1 g /2
Options :

146587145, % ) SIS (Nano Technology)

146587146. * W%ﬁﬁm (Neutral Technology)

146587147. ¢ ?{[\éﬁﬁ\l’ﬁﬁ (New Technology)

146587148. ® =41 €& (Nano Tool)

Question Number : 38 Question Id : 14658738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an operating system software?
Options :

146587149. # i0S

146587150. % MINIX

146587151. % ubuntu

146587152. ¥ OSi

Question Number : 38 Question Id : 14658738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
fFoffed & 9 &9 91, e SR R Sited 81 82
Options :

146587149. # i0S

146587150. * MINIX

146587151. # Ubuntu

146587152. ¥ OSi

Question Number : 39 Question Id : 14658739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which of the following is NOT a Unix-based operating system?
Options :

146587153. * Red hat

146587154. # Knoppix

146587155. # Fedora

146587156. ¥ Windows ME

Question Number : 39 Question Id : 14658739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafafed & 3 ®1F 9, gAe-sneid o Red T &2
Options :

146587153. % Y8 8¢ (Red hat)

146587154. #* Knoppix

146587155, % WSRI (Fedora)

146587156. ¥ Windows ME

Question Number : 40 Question Id : 14658740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following languages is NOT interpretation based?
Options :

146587157. ¢ C++

146587158. * Java

146587159. * VBScript

146587160. #* JavaScript

Question Number : 40 Question Id : 14658740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fgferfad & T oI Y 1T Sexfbesm anumid gl 82



Options :

146587157. ¢ C++
146587158, ® STdl
146587159. # VBf&Hy

146587160, ¥ SAIEHY

Question Number : 41 Question Id : 14658741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Match the columns and select the correct answer from those given in the options.

a) Java 1) Client-side Scripting

b) JavaScript | ii) Platform Independent I anguage

¢) Assembly | iii) Customized Markup languages

d) XML iv) Machine Dependent Language

Options :

146587161. % a —ii; b —1i; ¢ —iv; d —iii
146587162. % a —i; b —ii; ¢ —iv; d —iii
146587163. # a—ii;b—1; ¢ —iii; d —iv
146587164. % a —iii;b—i;c—iv;d—ii

Question Number : 41 Question Id : 14658741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



FIeTH &7 HemaT ¢ JuT BT 717 Bl # ¥ Tar 3o &7 I FL

a) SATET i) Femse-arss fEFfeaT

b) ST ii) ToICHIA-FadT TSI

c) I iii) HTHAT FARIT AT

d) XML iv) FRfe a3 smar
Options :

146587161. ¥ a—ii; b—i; ¢ —iv; d —iii
146587162. % a—1i; b —ii; ¢ —iv; d —iii
146587163. % a—ii;b—i;c—iii;d—iv
146587164, % a—iii; b—1i; ¢ —iv; d—ii

Question Number : 42 Question Id : 14658742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
HLL stands for

Options :

146587165. ¥ High Level Language
146587166. * High Language Library
146587167. * Host Level Language
146587168. * High Linker Library

Question Number : 42 Question Id : 14658742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



HLL T g0f A1 §ad15U|

Options :

146587165. ¢ E]ééaaﬁ@a (High Level Language)
146587166. % BTsc LG ?ﬂsaf[ (High Language Library)
146587167. % B AW <11dT (Host Level Language)
146587168. % BTs fihx @SSR (High Linker Library)

Question Number : 43 Question Id : 14658743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following languages is referred to as a database language?
Options :

146587169. ¥ SQL

146587170. # PHP

146587171. # Java

146587172. # Python

Question Number : 43 Question Id : 14658743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
frafafad # 9 forg U1 & STeTey HINT 8T SITdT 82
Options :

146587169. ¥ SQL

146587170. % PHP

146587171, % SIdl

146587172, % UIgY

Question Number : 44 Question Id : 14658744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Read the below statements and select the most appropriate option with regards to the truthfulness of each of them.



a) FORTRAN was developed by IBM.
¢) Visual Basic 6.0 was developed by Microsoft.
b) Java language was developed by Sun Microsystems.

Options :

146587173. ¥ a - TRUE; b - TRUE; ¢ - TRUE
146587174. % a - FALSE; b - TRUE; ¢ - TRUE
146587175. # a - FALSE; b - FALSE; ¢ - TRUE
146587176. # a - TRUE; b - FALSE; ¢ - TRUE

Question Number : 44 Question Id : 14658744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

19 faU T S BT US TUT TS HYUA B Il b Gae T Haie Sugad fddbed T ag- B |

(a) FORTRAN 1 IBM gRT f[a& ¥ fopar ar o1
(c) faS31a 9 6.0 BT AIgpIaTUE gRI fadmRid fovam Tl
(b) SITaT HTST &1 T HIShIRRCH gRT f[dhRid fovam mar o1

Options :

146587173. ¥ a - ¥gl; b - Tal; ¢ - Tal;
146587174, % a -71dId; b - TGI; ¢ - ol
146587175. % a - TTdId; b - TTId; ¢ - ol
146587176. ¥ a - T@l; b - 7TAd; ¢ - ol

Question Number : 45 Question Id : 14658745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The security property which defines the ability of a system to ensure that an asset is modified only by authorized parties is called
Options :

146587177. # availability

146587178. % confidentiality

146587179. ¥ integrity

146587180. # cryptography



Question Number : 45 Question Id : 14658745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

WﬁT&ﬂﬁ"ﬁqﬂT(security property)ﬁwwwg,@wmﬁmémWWﬁmﬁqﬁwm%%w
m(asset)mmmmmﬁmél

Options :

146587177. % JUASIT (availability)
146587178. % TN (confidentiality)
146587179. ¢ TS (integrity)
146587180. # W(cryptography)

Question Number : 46 Question Id : 14658746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Domain Name Resolution is the process of getting the
Options :

146587181. ¥ 1P address from the domain name
146587182. ¥ MAC address from the domain name
146587183. # ISP address from the domain name
146587184. % CSP address from the domain name

Question Number : 46 Question Id : 14658746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
UT B Pl UfehaT &1 S 70 REeg=H Fgd g
Options :
146587181, ¢ SIH- A F 1P U
146587182, % JIH AMH ¥ MAC Udl
146587183, % SIH- A ¥ ISP Udl
146587184, % SIH- A ¥ CSP Udl



Question Number : 47 Question Id : 14658747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Pretty Good Privacy is used for
Options :

146587185. ¥ email protection
146587186. #* antivirus

146587187. * phishing attack
146587188. * web jacking

Question Number : 47 Question Id : 14658747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ufe s Eﬂ%ﬁ?ﬁ (Pretty Good Privacy) &I Elth"T, %ﬁ fopar Srdr %I
Options :

146587185. ¢ SHA JR&f

146587186. ¥ TIdAISXd

146587187. % fOfRIT 3fcdH

146587188. % Q9 GifdhTl

Question Number : 48 Question Id : 14658748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ISO's OSI reference model has layers.
Options :

146587189. % 3

146587190. * 4

146587191. ¢ 7

146587192. % 5

Question Number : 48 Question Id : 14658748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
[SOFosIdeiaalsadd A ER gl
Options :

146587189. # 3

146587190. # 4

146587191. ¢ 7

146587192. % 5

Question Number : 49 Question Id : 14658749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
IP version 6 is a bit protocol
Options :

146587193. % 32

146587194, * 64

146587195. % 127

146587196. ¥ 128

Question Number : 49 Question Id : 14658749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
PRI 6 foemceragiagl
Options :

146587193. # 32

146587194. # 64

146587195. # 127

146587196. ¥ 128

Question Number : 50 Question Id : 14658750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which of the following is NOT a component of Fiber Optic Cable?
Options :

146587197. # Core

146587198. # Cladding

146587199. ¢ Copper wire

146587200. ¥ Connector

Question Number : 50 Question Id : 14658750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FafIRed 3 I &1 91 PR SHPH Had &1 Th U Tl 67
Options :

146587197. % HR

146587198, % FAfST

146587199, ¥ HIUR AR

146587200. % HdCx




